
CALCULUS

Calculus

State and Prove Lagrange’s Mean Value Theorem
statement :- If a function f- is=

C) Continues in Laib]

Iii) differentiable in (aib)
then 7 at least one real no .

C C- (ais) sit .

f'(C) = ftp.g.f#



Poff :. Consider a function

flat. flat + An -①
where A is Constant to determine

it. of (a) = ¢1b)
front f(a) + A. a = f(b) + A. b

A. ( a- b) = f(b) - fla)

- A ( b- a) = flb) - f (a)
- A = flb)[fa -②



c) f is Continous in laid [Given]
Are is Continous in [aib] [ ÷ Axis a

Polynomial]
also sum of Continous functions is

Contino us.

i. duel is Contino us in [a , b) { fnm①]
-③

His f is differentiable in (aib) (Given)
An is differentiable in (aib) (Axis Polynomial



Sum of differentiable functions is

differentiable .

i. ¢1k) is differentiable inlaid { front]
-④

N of (a) = 9lb) -⑤

i. By Rolle 's 1hm
. { from 30,404501

∅
'

(C) = o dhe )=fCn) +An

f
'

(c) + A = o dhe) = F'(a) + A



f' (C) = - A

= { from② }

thence f' (C) = ftp.#-a?
Hence Proved .

=


